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i R GO S 2 i e Bl v 22 5 BIHA 35 82 41 2.0 900 400 1300
BEHHT Y >R BIHA 35 96 42 2.3 1000 400 1400
HRBETY > FR BIEA 23 56 29 1.9 900 500 1400
ERFE ERFR BIEA 40 140 63 2.2 1000 800 1800
BEFS FREBBEEMRE FRHEF - HHESER HIHA 22 45 26 1.7 900 300 1200
FREBBEEMRE BRICR HIHA 26 71 30 2.4 900 300 1200
FREEBEENRE TRIEER AIEA 27 45 29 1.6 900 300 1200
FREBUVEEMFRE BRIERR HiIRA 30 114 30 3.8 700 400 1100
TEEB = A7 A TFR BIHA 49 96 65 1.5 900 500 1400
BREFIFEH BIHA 54 187 65 2.9 800 500 1300
ISFEFR BIEA 53 93 64 1.5 900 400 1300
BRI BIEA 55 116 70 1.7 1000 500 1500
BFEB EMERRFER BIHA 42 110 50 2.2 900 300 1200
ISRESEFR BIHA 22 51 27 1.9 900 300 1200
EEEETFR AIEA 23 49 32 1.5 900 300 1200
EEEEFN AIHA 27 60 34 1.8 900 300 1200
BB BIHA 24 47 27 1.7 1000 300 1300
>t > R AZa=F47 A 2%¥H 2 10 39 12 3.3 900 300 1200
BEHHT Y > FR % 9 24 9 2.7 1100 300 1400
HRBETY A 2R % 12 10 8 1.3 900 300 1200
BEFE FREBBEEMRE FRHEF - FHHIESER BIHA 6 18 11 1.6 900 - 900
FREBBEEMRE BRR HIHA 7 35 29 1.2 900 - 900
FREBBUEEMRE BRIEER BIHR 8 21 16 1.3 900 - 900
T8 W= A7 L TFR BHA 12 30 18 1.7 900 - 900
BRETFIFEHN 1%HA 15 23 18 1.3 800 100 900
IS EFR 2 17 39 20 2.0 900 300 1200
BRI %&HA 10 29 12 2.4 900 — 900
BFEB EMEFERZER 22 9 25 14 1.8 1000 - 1000
ISAEaEFRY %Hp 3 5 1.7 1000 - 1000
BERIETFH %HR 3 12 4.0 900 - 900
BEREFN %HR 3 24 3.4 900 - 900




